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26 4 25 & T % 26 4 25 & T % 26 i 25 £ & 490
g E L OE 145 136 9 6.6 90 80 10 12.5 62.1 58.8 3.3
= A 6 10 -4 -40.0 5 10 -5 -50.0 83.3 100.0 -16.7
L = 30 49 -19 -38.8 29 28 1 3.6 96.7 57.1 39.6
i)' X 24 10 14 140.0 13 8 5 62.5 54.2 80.0 -25.8
o8 7% 11 14 -3 -214 7 11 -4 -36.4 63.6 78.6 -15.0
BSER - 1% 1 -1 -100.0 2 -2 -100.0 200.0
mElHLED 74 52 22 42.3 36 21 15 71.4 48.6 40.4 8.2
EEHBZEIL 2427 2,789 -362 -13.0 1,298 1,270 28 2.2 53.5 455 8.0
g A =B 2,075 2,401 -326 -13.6 1,135 847 288 34.0 54.7 35.3 19.4
FEXNZR 1,214 1,360 -146 -10.7 582 517 65 12.6 479 38.0 9.9
T oE B 915 1,017 -102 -10.0 438 354 84 23.7 47.9 34.8 13.1
FUE T 238 297 -59 -19.9 100 157 -57 -36.3 42.0 52.9 -10.9
B T = 61 46 15 32.6 44 6 38 633.3 72.1 13.0 59.1
z O 861 1,041 -180 -17.3 553 330 223 67.6 64.2 31.7 325
EREES 285 316 -31 -9.8 145 411 -266 -64.7 50.9 130.1 -79.2
Uof=K Y 25 32 -7 -21.9 10 7 3 42.9 40.0 21.9 18.1
El Y 42 40 2 5.0 8 5 3 60.0 19.0 12.5 6.5
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A =1 % A =1 % A =l %
qF E L OFE 73 78 -5 -6.4 51 64 -13 -20.3 22 14 57.1
= A 4 9 -5 -55.6 4 8 -4 -50.0 1 -1 -100.0
L = 37 32 5 15.6 21 23 -2 -8.7 16 9 77.8
iy X 4 8 -4 2,739.0 4 8 -4 -50.0
L % 7 9 -2 -22.2 4 8 -4 -50.0 3 1 200.0
BSER - BB 5 -5 -100.0 5 -5 -100.0
Elh D 21 15 6 40.0 18 12 6 50.0 3 3
EEHEZEIL 157 150 7 47 135 113 22 19.5 22 37 -15 -40.5
g A B 126 107 19 17.8 110 85 25 29.4 16 22 -6 -27.3
FEXNZR 45 35 10 28.6 43 34 9 26.5 2 1 100.0
T oE OB 35 27 8 29.6 33 26 7 26.9 2 1 100.0
FUE TNt 6 6 6 6
B = = 4 2 2 100.0 4 2 2 100.0
z O 81 72 9 12.5 67 51 16 31.4 14 21 -7 -33.3
EREES 24 28 -4 -14.3 21 21 3 7 -4 -57.1
Uo1=K Y 4 8 -4 -50.0 1 7 -6 -85.7 3 1 200.0
El Y 3 7 -4 -57.1 3 3 - 7 ~7 -100.0




